# **Council Tax Charges 2013/2014**

Bath & North East Somerset Council Tax Rates 2013/14 with Parish, Police and Fire Precepts

| Parish/Charter<br>Trust | Band A    | Band B    | Band C    | Band D    | Band E    | Band F    | Band G    | Band H    |
|-------------------------|-----------|-----------|-----------|-----------|-----------|-----------|-----------|-----------|
| Bath                    | £960.32   | £1,120.37 | £1,280.43 | £1,440.48 | £1,760.59 | £2,080.69 | £2,400.80 | £2,880.96 |
| Bathampton              | £977.53   | £1,140.45 | £1,303.38 | £1,466.30 | £1,792.15 | £2,117.99 | £2,443.83 | £2,932.60 |
| Batheaston              | £968.47   | £1,129.88 | £1,291.30 | £1,452.71 | £1,775.54 | £2,098.36 | £2,421.18 | £2,905.42 |
| Bathford                | £971.00   | £1,132.84 | £1,294.68 | £1,456.51 | £1,780.18 | £2,103.85 | £2,427.51 | £2,913.02 |
| Cameley                 | £985.53   | £1,149.78 | £1,314.05 | £1,478.30 | £1,806.82 | £2,135.32 | £2,463.83 | £2,956.60 |
| Camerton                | £988.70   | £1,153.49 | £1,318.28 | £1,483.06 | £1,812.63 | £2,142.20 | £2,471.76 | £2,966.12 |
| Charlcombe              | £960.70   | £1,120.81 | £1,280.94 | £1,441.05 | £1,761.29 | £2,081.52 | £2,401.75 | £2,882.10 |
| Chelwood                | £959.80   | £1,119.77 | £1,279.74 | £1,439.71 | £1,759.65 | £2,079.58 | £2,399.51 | £2,879.42 |
| Chew Magna              | £979.97   | £1,143.30 | £1,306.63 | £1,469.96 | £1,796.62 | £2,123.28 | £2,449.93 | £2,939.92 |
| Chew Stoke              | £977.92   | £1,140.91 | £1,303.90 | £1,466.89 | £1,792.87 | £2,118.84 | £2,444.81 | £2,933.78 |
| Claverton               | £984.93   | £1,149.08 | £1,313.25 | £1,477.40 | £1,805.72 | £2,134.02 | £2,462.33 | £2,954.80 |
| Clutton                 | £977.49   | £1,140.40 | £1,303.33 | £1,466.24 | £1,792.08 | £2,117.90 | £2,443.73 | £2,932.48 |
| Combe Hay               | £1,018.90 | £1,188.71 | £1,358.54 | £1,528.35 | £1,867.99 | £2,207.62 | £2,547.25 | £3,056.70 |
| Compton Dando           | £971.98   | £1,133.98 | £1,295.98 | £1,457.98 | £1,781.98 | £2,105.97 | £2,429.96 | £2,915.96 |
| Compton Martin          | £980.98   | £1,144.47 | £1,307.98 | £1,471.47 | £1,798.47 | £2,125.46 | £2,452.45 | £2,942.94 |



| Parish/Charter<br>Trust | Band A    | Band B    | Band C    | Band D    | Band E    | Band F    | Band G    | Band H    |
|-------------------------|-----------|-----------|-----------|-----------|-----------|-----------|-----------|-----------|
| Corston                 | £980.64   | £1,144.08 | £1,307.53 | £1,470.97 | £1,797.86 | £2,124.74 | £2,451.61 | £2,941.94 |
| Dunkerton               | £976.26   | £1,138.97 | £1,301.69 | £1,464.40 | £1,789.83 | £2,115.25 | £2,440.66 | £2,928.80 |
| East Harptree           | £973.92   | £1,136.23 | £1,298.56 | £1,460.88 | £1,785.53 | £2,110.16 | £2,434.80 | £2,921.76 |
| Englishcombe            | £982.79   | £1,146.59 | £1,310.39 | £1,474.19 | £1,801.79 | £2,129.39 | £2,456.98 | £2,948.38 |
| Farmborough             | £977.10   | £1,139.95 | £1,302.81 | £1,465.66 | £1,791.37 | £2,117.07 | £2,442.76 | £2,931.32 |
| Farrington<br>Gurney    | £977.82   | £1,140.78 | £1,303.76 | £1,466.73 | £1,792.68 | £2,118.61 | £2,444.55 | £2,933.46 |
| Freshford               | £986.59   | £1,151.02 | £1,315.46 | £1,479.89 | £1,808.76 | £2,137.62 | £2,466.48 | £2,959.78 |
| High Littleton          | £976.05   | £1,138.72 | £1,301.41 | £1,464.08 | £1,789.44 | £2,114.78 | £2,440.13 | £2,928.16 |
| Hinton Blewett          | £977.91   | £1,140.89 | £1,303.89 | £1,466.87 | £1,792.85 | £2,118.81 | £2,444.78 | £2,933.74 |
| Hinton<br>Charterhouse  | £991.28   | £1,156.50 | £1,321.72 | £1,486.93 | £1,817.36 | £2,147.79 | £2,478.21 | £2,973.86 |
| Kelston                 | £968.61   | £1,130.04 | £1,291.49 | £1,452.92 | £1,775.80 | £2,098.66 | £2,421.53 | £2,905.84 |
| Keynsham                | £1,009.44 | £1,177.68 | £1,345.93 | £1,514.17 | £1,850.66 | £2,187.14 | £2,523.61 | £3,028.34 |
| Marksbury               | £975.24   | £1,137.77 | £1,300.32 | £1,462.86 | £1,787.95 | £2,113.02 | £2,438.10 | £2,925.72 |
| Midsomer<br>Norton      | £1,013.37 | £1,182.26 | £1,351.17 | £1,520.06 | £1,857.86 | £2,195.64 | £2,533.43 | £3,040.12 |
| Monkton Combe           | £970.12   | £1,131.81 | £1,293.50 | £1,455.19 | £1,778.57 | £2,101.94 | £2,425.31 | £2,910.38 |
| Nempnett<br>Thrubwell   | £968.73   | £1,130.18 | £1,291.65 | £1,453.10 | £1,776.02 | £2,098.92 | £2,421.83 | £2,906.20 |
| Newton St. Loe          | £998.74   | £1,165.19 | £1,331.66 | £1,498.11 | £1,831.03 | £2,163.94 | £2,496.85 | £2,996.22 |
| North Stoke             | £955.93   | £1,115.25 | £1,274.58 | £1,433.90 | £1,752.55 | £2,071.19 | £2,389.83 | £2,867.80 |
| Norton<br>Malreward     | £978.80   | £1,141.94 | £1,305.08 | £1,468.21 | £1,794.48 | £2,120.75 | £2,447.01 | £2,936.42 |

| Parish/Charter<br>Trust | Band A    | Band B    | Band C    | Band D    | Band E    | Band F    | Band G    | Band H    |
|-------------------------|-----------|-----------|-----------|-----------|-----------|-----------|-----------|-----------|
| Paulton                 | £1,032.81 | £1,204.94 | £1,377.09 | £1,549.22 | £1,893.50 | £2,237.76 | £2,582.03 | £3,098.44 |
| Peasedown St.<br>John   | £1,005.72 | £1,173.33 | £1,340.96 | £1,508.58 | £1,843.83 | £2,179.06 | £2,514.30 | £3,017.16 |
| Priston                 | £981.91   | £1,145.56 | £1,309.22 | £1,472.87 | £1,800.18 | £2,127.48 | £2,454.78 | £2,945.74 |
| Publow                  | £971.86   | £1,133.84 | £1,295.82 | £1,457.80 | £1,781.76 | £2,105.71 | £2,429.66 | £2,915.60 |
| Radstock                | £1,045.16 | £1,219.36 | £1,393.56 | £1,567.75 | £1,916.14 | £2,264.53 | £2,612.91 | £3,135.50 |
| St. Catherine           | £968.42   | £1,129.83 | £1,291.24 | £1,452.64 | £1,775.45 | £2,098.26 | £2,421.06 | £2,905.28 |
| Saltford                | £964.57   | £1,125.33 | £1,286.10 | £1,446.86 | £1,768.39 | £2,089.91 | £2,411.43 | £2,893.72 |
| Shoscombe               | £981.68   | £1,145.29 | £1,308.91 | £1,472.52 | £1,799.75 | £2,126.97 | £2,454.20 | £2,945.04 |
| South Stoke             | £969.68   | £1,131.29 | £1,292.91 | £1,454.52 | £1,777.75 | £2,100.97 | £2,424.20 | £2,909.04 |
| Stanton Drew            | £974.10   | £1,136.44 | £1,298.80 | £1,461.15 | £1,785.86 | £2,110.55 | £2,435.25 | £2,922.30 |
| Stowey Sutton           | £974.18   | £1,136.55 | £1,298.92 | £1,461.28 | £1,786.01 | £2,110.74 | £2,435.46 | £2,922.56 |
| Swainswick              | £970.52   | £1,132.28 | £1,294.04 | £1,455.79 | £1,779.30 | £2,102.81 | £2,426.31 | £2,911.58 |
| Timsbury                | £986.32   | £1,150.70 | £1,315.10 | £1,479.48 | £1,808.26 | £2,137.03 | £2,465.80 | £2,958.96 |
| Ubley                   | £983.28   | £1,147.16 | £1,311.05 | £1,474.93 | £1,802.70 | £2,130.46 | £2,458.21 | £2,949.86 |
| Wellow                  | £982.62   | £1,146.38 | £1,310.16 | £1,473.93 | £1,801.48 | £2,129.01 | £2,456.55 | £2,947.86 |
| West Harptree           | £981.76   | £1,145.39 | £1,309.02 | £1,472.65 | £1,799.91 | £2,127.16 | £2,454.41 | £2,945.30 |
| Westfield               | £1,020.46 | £1,190.53 | £1,360.62 | £1,530.69 | £1,870.85 | £2,211.00 | £2,551.15 | £3,061.38 |
| Whitchurch              | £986.00   | £1,150.33 | £1,314.67 | £1,479.00 | £1,807.67 | £2,136.33 | £2,465.00 | £2,958.00 |

Figures shown are for at least a 2 adult household with no discounts

### **Average Band D Council Tax 2013/14**

On average (for a Band D, 2 adult household) the Council Tax for 2013/14 will be as follows:

| Reference Band D 2012/13 £ |                                      | £ Band D<br>2013/14 | % Increase on 2012/13 |
|----------------------------|--------------------------------------|---------------------|-----------------------|
| 1,201.85                   | Bath and North East Somerset Council | 1,201.85            | 0.00                  |
| 33.62                      | Average Parish Precept               | 34.45               | 2.47                  |
| 62.77                      | Avon Fire Authority                  | 64.02               | 1.99                  |
| 168.03                     | Avon and Somerset Police Authority   | 168.03              | 0.00                  |
| 1,466.27                   | Total Tax charged                    | 1,468.35            | 0.14                  |

### **Valuation Bands for Precepting Organisations**

#### **Bath & North East Somerset Council only**

Valuation Bands

| Α       | В       | С         | D         | Е         | F         | G         | Н         |
|---------|---------|-----------|-----------|-----------|-----------|-----------|-----------|
| £801.23 | £934.77 | £1,068.31 | £1,201.85 | £1,468.93 | £1,736.01 | £2,003.08 | £2,403.70 |

#### **Avon & Somerset Police Authority**

Valuation Bands

| Α       | В       | С       | D       | E       | F       | G       | Н       |
|---------|---------|---------|---------|---------|---------|---------|---------|
| £112.02 | £130.69 | £149.36 | £168.03 | £205.37 | £242.71 | £280.05 | £336.06 |

### **Avon Fire Authority**

Valuation Bands

| Α      | В      | С      | D      | E      | F      | G       | Н       |
|--------|--------|--------|--------|--------|--------|---------|---------|
| £42.68 | £49.79 | £56.91 | £64.02 | £78.25 | £92.47 | £106.70 | £128.04 |

### **Charter Trust / Parish Council Tax Rates 2013/14**

| Parish/Charter<br>Trust/Town Council | Precept £ | Tax base | Band D £ |
|--------------------------------------|-----------|----------|----------|
| Bath                                 | 190,550   | 28958.63 | 6.58     |
| Bathampton                           | 23,000    | 709.88   | 32.40    |
| Batheaston                           | 20,000    | 1063.22  | 18.81    |
| Bathford                             | 17,495    | 773.80   | 22.61    |
| Cameley                              | 18,750    | 422.26   | 44.40    |
| Camerton                             | 11,240    | 228.62   | 49.16    |
| Charlcombe                           | 1,470     | 205.49   | 7.15     |
| Chelwood                             | 350       | 60.29    | 5.81     |
| Chew Magna                           | 21,500    | 596.27   | 36.06    |
| Chew Stoke                           | 15,000    | 454.62   | 32.99    |
| Claverton                            | 3,000     | 68.97    | 43.50    |
| Clutton                              | 17,585    | 543.70   | 32.34    |
| Combe Hay                            | 8,500     | 89.99    | 94.45    |
| Compton Dando                        | 6,710     | 278.63   | 24.08    |
| Compton Martin                       | 8,960     | 238.47   | 37.57    |
| Corston                              | 6,900     | 186.15   | 37.07    |
| Dunkerton                            | 6,719     | 220.33   | 30.50    |
| East Harptree                        | 8,150     | 302.08   | 26.98    |
| Englishcombe                         | 5,028     | 124.78   | 40.29    |
| Farmborough                          | 12,880    | 405.50   | 31.76    |
| Farrington Gurney                    | 10,260    | 312.48   | 32.83    |
| Freshford                            | 12,920    | 280.95   | 45.99    |

| High Littleton      | 23,000    | 762.07    |        |
|---------------------|-----------|-----------|--------|
| Hinton Blewett      | 4,483     | 135.98    |        |
| Hinton Charterhouse | 12,432    | 234.44    |        |
| Kelston             | 1,500     | 78.86     |        |
| Keynsham            | 409,616   |           |        |
| Marksbury           | 5,120     | 176.77    |        |
| Midsomer Norton     | 300,872   | 3492.02   |        |
| Monkton Combe       | 3,490     | 163.96    |        |
| Nempnett Thrubwell  | 1,700     | 88.53     |        |
| Newton St. Loe      | 4,000     | 62.30     |        |
| North Stoke         | -         | 44.76     |        |
| Norton Malreward    | 3,780     | 110.17    | 34.31  |
| Paulton             | 193,175   | 1675.16   | 115.32 |
| Peasedown St. John  | 150,108   | 2010.08   | 74.68  |
| Priston             | 4,800     | 123.16    | 38.97  |
| Publow              | 11,000    | 460.21    | 23.90  |
| Radstock            | 191,538   | 1431.04   | 133.85 |
| St. Catherine       | 750       | 40.03     | 18.74  |
| Saltford            | 22,710    | 1752.36   | 12.96  |
| Shoscombe           | 6,118     | 158.43    | 38.62  |
| South Stoke         | 4,680     | 226.96    | 20.62  |
| Stanton Drew        | 8,416     | 308.83    | 27.25  |
| Stowey Sutton       | 16,000    | 584.28    | 27.38  |
| Swainswick          | 2,800     | 127.90    | 21.89  |
| Timsbury            | 40,000    | 877.64    | 45.58  |
| Ubley               | 6,730     | 164.02    | 41.03  |
| Wellow              | 9,368     | 234.02    | 40.03  |
| West Harptree       | 7,500     | 193.57    | 38.75  |
| Westfield           | 152,065   | 1571.05   | 96.79  |
| Whitchurch          | 20,000    | 443.43    | 45.10  |
| Total               | 2,044,718 | 59,360.17 | 34.45  |

## %age increases by area

|                      |           | %         | %                | %        | %        | %        |
|----------------------|-----------|-----------|------------------|----------|----------|----------|
| Parish, Town Council |           | Increase  | Increase         | Increase | Increase | Increase |
| or Charter Trust     | Band D    | (overall) | <b>B&amp;NES</b> | Fire     | Police   | Parish   |
|                      |           |           |                  |          |          |          |
| Bath                 | £1,440.48 | 0.1%      | 0.00%            | 1.99%    | 0.00%    | 0.0%     |
| Bathampton           | £1,466.30 | 0.1%      | 0.00%            | 1.99%    | 0.00%    | 0.8%     |
| Batheaston           | £1,452.71 | 0.8%      | 0.00%            | 1.99%    | 0.00%    | 113.3%   |
| Bathford             | £1,456.51 | 0.1%      | 0.00%            | 1.99%    | 0.00%    | -1.7%    |
| Cameley              | £1,478.30 | 0.3%      | 0.00%            | 1.99%    | 0.00%    | 7.8%     |
| Camerton             | £1,483.06 | 0.5%      | 0.00%            | 1.99%    | 0.00%    | 15.4%    |
| Charlcombe           | £1,441.05 | 0.1%      | 0.00%            | 1.99%    | 0.00%    | -2.2%    |
| Chelwood             | £1,439.71 | -0.3%     | 0.00%            | 1.99%    | 0.00%    | -46.0%   |
| Chew Magna           | £1,469.96 | 0.0%      | 0.00%            | 1.99%    | 0.00%    | -1.7%    |
| Chew Stoke           | £1,466.89 | 0.1%      | 0.00%            | 1.99%    | 0.00%    | 2.6%     |
| Claverton            | £1,477.40 | 0.0%      | 0.00%            | 1.99%    | 0.00%    | -4.3%    |
| Clutton              | £1,466.24 | 0.3%      | 0.00%            | 1.99%    | 0.00%    | 12.9%    |
| Combe Hay            | £1,528.35 | 0.7%      | 0.00%            | 1.99%    | 0.00%    | 11.7%    |
| Compton Dando        | £1,457.98 | 0.0%      | 0.00%            | 1.99%    | 0.00%    | -2.3%    |
| Compton Martin       | £1,471.47 | 0.0%      | 0.00%            | 1.99%    | 0.00%    | -2.3%    |
| Corston              | £1,470.97 | 0.1%      | 0.00%            | 1.99%    | 0.00%    | 1.3%     |
| Dunkerton            | £1,464.40 | 0.1%      | 0.00%            | 1.99%    | 0.00%    | 2.6%     |
| East Harptree        | £1,460.88 | 0.1%      | 0.00%            | 1.99%    | 0.00%    | -1.4%    |
| Englishcombe         | £1,474.19 | 0.6%      | 0.00%            | 1.99%    | 0.00%    | 25.7%    |
| Farmborough          | £1,465.66 | 0.1%      | 0.00%            | 1.99%    | 0.00%    | -1.0%    |
| Farrington Gurney    | £1,466.73 | 0.1%      | 0.00%            | 1.99%    | 0.00%    | 0.6%     |
| Freshford            | £1,479.89 | 0.0%      | 0.00%            | 1.99%    | 0.00%    | -2.8%    |
| High Littleton       | £1,464.08 | 0.2%      | 0.00%            | 1.99%    | 0.00%    | 6.6%     |
| Hinton Blewett       | £1,466.87 | 0.3%      | 0.00%            | 1.99%    | 0.00%    | 8.8%     |
| Hinton Charterhouse  | £1,486.93 | 0.2%      | 0.00%            | 1.99%    | 0.00%    | 4.4%     |
| Kelston              | £1,452.92 | 0.1%      | 0.00%            | 1.99%    | 0.00%    | 2.0%     |
| Keynsham             | £1,514.17 | 0.2%      | 0.00%            | 1.99%    | 0.00%    | 2.2%     |

| £1,462.86 | 0.0%  | 0.00%   | 1.99%  | 0.00%   | -1.9%  |
|-----------|---|---|--|---|--|
| £1,520.06 | 0.1%  | 0.00%   | 1.99%  | 0.00%   | 0.0%   |
| £1,455.19 | 0.0%  | 0.00%   | 1.99%  | 0.00%   | -4.4%  |
| £1,453.10 | 0.1%  | 0.00%   | 1.99%  | 0.00%   | 4.4%   |
| £1,498.11 | 2.9%  | 0.00%   | 1.99%  | 0.00%   | 180.3%   |
| £1,433.90 | 0.1%  | 0.00%   | 1.99%  | 0.00%   | 0.0%   |
| £1,468.21 | 0.1%  | 0.00%   | 1.99%  | 0.00%   | 0.9%   |
| £1,549.22 | 0.1%  | 0.00%   | 1.99%  | 0.00%   | 0.0%   |
| £1,508.58 | 0.9%  | 0.00%   | 1.99%  | 0.00%   | 19.2%  |
| £1,472.87 | 0.2%  | 0.00%   | 1.99%  | 0.00%   | 5.6%   |
| £1,457.80 | 0.1%  | 0.00%   | 1.99%  | 0.00%   | 4.0%   |
| £1,567.75 | 0.1%  | 0.00%   | 1.99%  | 0.00%   | 0.6%   |
| £1,452.64 | 0.5%  | 0.00%   | 1.99%  | 0.00%   | 39.4%  |
| £1,446.86 | 0.1%  | 0.00%   | 1.99%  | 0.00%   | -0.8%  |
| £1,472.52 | 0.0%  | 0.00%   | 1.99%  | 0.00%   | -2.0%  |
| £1,454.52 | 0.1%  | 0.00%   | 1.99%  | 0.00%   | -0.9%  |
| £1,461.15 | 0.6%  | 0.00%   | 1.99%  | 0.00%   | 33.2%  |
| £1,461.28 | 0.2%  | 0.00%   | 1.99%  | 0.00%   | 4.1%   |
| £1,455.79 | 0.1%  | 0.00%   | 1.99%  | 0.00%   | 3.2%   |
| £1,479.48 | 1.1%  | 0.00%   | 1.99%  | 0.00%   | 47.2%  |
| £1,474.93 | 0.0%  | 0.00%   | 1.99%  | 0.00%   | -2.6%  |
| £1,473.93 | 0.0%  | 0.00%   | 1.99%  | 0.00%   | -2.8%  |
| £1,472.65 | 0.2%  | 0.00%   | 1.99%  | 0.00%   | 6.5%   |
| £1,530.69 | 0.1%  | 0.00%   | 1.99%  | 0.00%   | 0.0%   |
| £1,479.00 | 0.7%  | 0.00%   | 1.99%  | 0.00%   | 23.3%  |
|           | £1,520.06<br>£1,455.19<br>£1,453.10<br>£1,498.11<br>£1,433.90<br>£1,468.21<br>£1,549.22<br>£1,508.58<br>£1,472.87<br>£1,457.80<br>£1,457.80<br>£1,452.64<br>£1,446.86<br>£1,472.52<br>£1,461.15<br>£1,461.28<br>£1,455.79<br>£1,479.48<br>£1,479.48<br>£1,473.93<br>£1,473.93<br>£1,472.65<br>£1,530.69 | £1,520.06 0.1% £1,455.19 0.0% £1,453.10 0.1% £1,498.11 2.9% £1,433.90 0.1% £1,468.21 0.1% £1,549.22 0.1% £1,549.22 0.1% £1,549.22 0.1% £1,472.87 0.2% £1,457.80 0.1% £1,457.80 0.1% £1,452.64 0.5% £1,452.64 0.5% £1,446.86 0.1% £1,472.52 0.0% £1,454.52 0.1% £1,472.52 0.0% £1,472.52 0.0% £1,472.53 0.2% £1,461.28 0.2% £1,461.28 0.2% £1,479.48 1.1% £1,479.48 1.1% £1,474.93 0.0% £1,473.93 0.0% £1,472.65 0.2% £1,530.69 0.1% | £1,520.06         0.1%         0.00%           £1,455.19         0.0%         0.00%           £1,453.10         0.1%         0.00%           £1,498.11         2.9%         0.00%           £1,433.90         0.1%         0.00%           £1,468.21         0.1%         0.00%           £1,549.22         0.1%         0.00%           £1,508.58         0.9%         0.00%           £1,472.87         0.2%         0.00%           £1,457.80         0.1%         0.00%           £1,452.64         0.5%         0.00%           £1,446.86         0.1%         0.00%           £1,454.52         0.1%         0.00%           £1,461.15         0.6%         0.00%           £1,461.28         0.2%         0.00%           £1,479.48         1.1%         0.00%           £1,473.93         0.0%         0.00%           £1,473.93         0.0%         0.00%           £1,530.69         0.1%         0.00% | £1,520.06         0.1%         0.00%         1.99%           £1,455.19         0.0%         0.00%         1.99%           £1,453.10         0.1%         0.00%         1.99%           £1,498.11         2.9%         0.00%         1.99%           £1,433.90         0.1%         0.00%         1.99%           £1,468.21         0.1%         0.00%         1.99%           £1,549.22         0.1%         0.00%         1.99%           £1,508.58         0.9%         0.00%         1.99%           £1,472.87         0.2%         0.00%         1.99%           £1,457.80         0.1%         0.00%         1.99%           £1,452.64         0.5%         0.00%         1.99%           £1,446.86         0.1%         0.00%         1.99%           £1,452.52         0.0%         0.00%         1.99%           £1,461.15         0.6%         0.00%         1.99%           £1,461.28         0.2%         0.00%         1.99%           £1,479.48         1.1%         0.00%         1.99%           £1,473.93         0.0%         0.00%         1.99%           £1,472.65         0.2%         0.00%         1.99% | £1,520.06         0.1%         0.00%         1.99%         0.00%           £1,455.19         0.0%         0.00%         1.99%         0.00%           £1,453.10         0.1%         0.00%         1.99%         0.00%           £1,498.11         2.9%         0.00%         1.99%         0.00%           £1,433.90         0.1%         0.00%         1.99%         0.00%           £1,468.21         0.1%         0.00%         1.99%         0.00%           £1,549.22         0.1%         0.00%         1.99%         0.00%           £1,508.58         0.9%         0.00%         1.99%         0.00%           £1,472.87         0.2%         0.00%         1.99%         0.00%           £1,457.80         0.1%         0.00%         1.99%         0.00%           £1,452.64         0.5%         0.00%         1.99%         0.00%           £1,452.64         0.5%         0.00%         1.99%         0.00%           £1,472.52         0.0%         0.00%         1.99%         0.00%           £1,461.15         0.6%         0.00%         1.99%         0.00%           £1,479.48         1.1%         0.00%         1.99%         0.00% |